EE103 HW #6 Nov. 6, 2017
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Apply the integration form
with change of variable.
2.
514. Determine the Fourier transforms of the signals shown in Figure P5.14. (Use the prop-
erty tables to minimize the effort.)
Table 5.1

Fourier Transform (FT) of f1(t) f2(t)=F1 * F2
Where F1, F2 are FT of f1(t) and f2((t)

FT of f(t-t0)
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Hint: g2(t) is a product of a sin function and

rect(t-5]10)

Figure P5.14




6.6. Calculate the frequency response of the circuit shown in Figure P6.6 and determine
what type of ideal filter is approximated by this circuit.
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